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What are the THREE values of register
?x1 that get PUSHED to the stack
Notice: The answers below are in

7 OWERGBIML)

and 100,88 ,20

and 96,84 ,16

and 52,64 ,20

and 52,64 ,16

and 56 ,68,20 ©
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‘ IC; for ;"r;grlmx [ IOI 516 ‘

Relative Frequency
___for ProgramX

30% ‘ 50% 120/ J

Assume that clock rate of Computer-A
Is 8GHz; what is the CPU time of

Eﬁ_{" F’ OQ@m)ﬁ QﬂCO wter-A
\ KOS Nl 3)
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UIVETT LTIE RISV Coue diua 1meinory Corterits
:below, answer the following problems 8 to 14

PC [ Instruction ] Memory Byte Address  Memory Contents
0 | luix6, 0xBIF25 | 6 0x77
4 ori x7, x6, 0x6C3 5 0xDF
8 | Iwu x8, 2(x0) 4 0x91
12 | beq x8, x7, 6 3 0x9B
16 | addi x9, x0, 0x008 2 OxEC
20 | sh x9, 0(x0) 1 OxAR
24 | srli x9, x9, 2 0 0x45

What is the value of register x6 after
[%) * ?executing the RISC-V code
(dass 1)

Ox FFFF FFFF B9F2 5000 ©

0x FFFF FFFF FFFB 9F25

Ox 0000 0000 B9F2 5000

Ox 0000 0000 000B 9F25

None of the above
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None of the above

What is the value of register x9 after

[%) * ?executing the RISC-V code
(a5 1)

0x 0000 0000 0000 0010
0x 0000 0000 0000 0004
Ox FFFF FFFF FFFF A845

0x 3FFF FFFF FFFF EA11

0x 0000 0000 0000 0002 ©
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What is the value of register x7 after
[ * ?executing the RISC-V code

Ox 0000 0000 0000 06C3

Ox FFFF FFFF B9F2 56C3 ©

Ox 0000 0000 B9F2 56C3

Ox FFFF FFFF BOF2 46C3

None of the above

What is the value of register x8 after

—_—— —_— = -
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Computer-1 and Computer-2 have the
.EXACT hardware

Computer-1 needs 100 clock cycles to
.execute programZ

Computer-2 needs 300 clock cycles to
.execute programZ

When executing programZ, which

R

(2 1)

Computer-1 is faster by 3 -

times

Computer-2 is faster by 3
times

Computer-1 is faster by 1/3
times

Both computers have the
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Which instruction is the target of the

POWERSTN e

addi x9, x0, 0x008

sh x9, 0(x0)

srlix9,x9,2 ©

lui X6, 0OXB9F25

ori X7, x6, 0x6C3

What is the machine instruction of the
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None of the above

What is the value of register x8 after
Eﬂ & '?executlng the RISC-V code

OWGCROUN 1

Ox 0000 0077 DF91 9BEC

Ox 0000 0000 EC9B 91DF

Ox 0000 0000 DF91 9BEC ©

Ox FFFF FFFF ECOB 91DF

None of the above
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What is the machine instruction of the
?beq instruction at PC =12
Notice that the opcode of the beq is

*H‘I‘l ll i
‘I}If \’lﬁlc 2 tjj 000

(cdmﬂ)

0x 0074 0663 ©

0Ox 0074 0363

Ox 0083 8663

Ox 0083 8363

None of the above
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W = 7éay o 2l 2. ©
(PC =96) Jalr x0, 0(x1) ]

What is the value of the immediate
"PLAY" in the jal instruction at PC =

752
Notice: The answers below are in

ROERC il

32

20-

10- ©

16-
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What is the value stored in memory
location at address 1 after executing
(&) 7 2the RISE1Y code

(s 1)

Ox FO

Ox 08

Ox A8

0x00 O

None of the above
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?What is the final value in register x12
Notice: The answers below are in

Ll *.decimal format

(25 2)

14

21

10

|
1

do 3l Shlowzwdl S 3l w3l Jlan] Ly
.
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:Assume that

Clock period of Computer-B is (0.5 .1
ns)

CPRU time of ProgramXon-.2
Computer-B is (21 ns)

What is the total instruction count of
[5) *?ProgramX on Computer-B
(s 3)

100
42

2.1

20 O



LoD .. N 7.l 16% % 4:37 pm

(3 @& forms.office.com/Page (10

L:UIIIIJLI LI~ 1 aliu vull IlJLl LCI"ZL Uusce LuiIc
same ISA and same complier. In
addition, the two computers have the
same CPIi for all instruction types. As
a result, when the same program is
executed on both computers, which of
the following statements is NOT

LM} =* ?hecessarily correct

(s 1)

Total Instruction Count of
Computer-1 = Total
Instruction Count of
Computer-2

CPlavg of Computer-1 =
CPlavg of Computer-2

Clock Cycles of Computer-1 =
Clock Cycles of Computer-2

CPU Performance of
Computer-1 = CPU

Performance of Computer-2




